



CENTRAL MARKETING AREA

FEDERAL MILK ORDER NO. 32

United States
Department of Agriculture
Agricultural Marketing Service
Dairy Program

Tel.: (913) 495-9300 --- Fax: (913) 888-9207
email: market.administrator@fmmcentral.com
website: www.fmmcentral.com

Mailing Address:
PO Box 14650
Shawnee Mission, KS
66285-4650

JANUARY 2026

STATISTICAL UNIFORM PRICE ANNOUNCEMENT

Producer Milk	Percent	Pounds	Minimum Class Price
Class I	32.30	380,976,892	\$19.55
Class II	13.64	160,889,479	13.92
Class III	28.55	336,715,747	14.59
Class IV	25.51	300,958,763	13.55
Total Producer Milk	100.00	1,179,540,881	

Computation of Uniform Price (per cwt @ Jackson County, MO)		Prices and Adjustments	
Producer Price Differential	\$1.16	Butterfat Price	\$1.4525 /lb
Class III Price (@ 3.5% Butterfat)	\$14.59	Protein Price	2.1768 /lb
Statistical Uniform Price (@ 3.5% Butterfat)	\$15.75	Other Solids Price	0.4448 /lb
Statistical Uniform Price (@ Average Pool Component Tests)	\$17.76	Nonfat Solids Price	0.9433 /lb
		SCC Adj Rate (1,000 cells)	0.00070
		Class 1 ESL Adj	(\$0.17) /cwt

COMPUTATION OF PRODUCER PRICE DIFFERENTIAL

		Product Pounds	Price per cwt / lb	Component Value	Total Value
Class I	Skim Milk	372,104,187	\$14.37	\$53,471,371.67	
	Butterfat	8,872,705	1.6241	14,410,160.19	
Less:	Location Adjustment to Handlers			(879,791.21)	\$67,001,740.65
Class II	Butterfat	12,570,337	1.4595	18,346,406.85	
	Nonfat Solids	14,351,551	0.9817	14,088,917.62	32,435,324.47
Class III	Butterfat	15,890,619	1.4525	23,081,124.13	
	Protein	11,692,611	2.1768	25,452,475.62	
	Other Solids	19,459,588	0.4448	8,655,624.73	57,189,224.48
Class IV	Butterfat	14,970,034	1.4525	21,743,974.42	
	Nonfat Solids	28,034,210	0.9433	26,444,670.31	48,188,644.73
Total Classified Value					\$204,814,934.33
Add:	Value for 60(f) through 60(j)				193,317.28
	Other Source Receipts	782,663			
	Somatic Cell Adjustment - Classes II, III and IV				1,079,686.52
Total Pool Value					\$206,087,938.13
Less:	Value of Producer Butterfat	52,303,695	1.4525	(75,971,117.04)	
	Value of Producer Protein	41,091,165	2.1768	(89,447,247.98)	
	Value of Producer Other Solids	68,383,739	0.4448	(30,417,087.10)	
	Value of Producer Somatic Cell	162		(1,549,137.59)	(197,384,589.71)
Total PPD Value before Adjustments					\$8,703,348.42
Add:	Location Adjustment to Producers				5,093,486.96
	One-half Unobligated Balance - Producer Settlement Fund				471,480.74
Less:	Producer Settlement Fund - Reserve				(576,563.03)
Total Pool Milk (w/URSP) & PPD Value					\$13,691,753.09
Producer Price Differential					\$1.16
Statistical Uniform Price					\$15.75

(Selected pool and price statistics on next page)

UNITED STATES DEPARTMENT OF AGRICULTURE
AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAM
Central Order - Federal Order No. 32
Pool Handler Listing

January 2026

Plant Name	City, State	County	FIPS Code	Loc. Adj. 1/
Pool Distributing Plants - Sec. 1032.7 (a) or (b) or (d)				
Anderson-Erickson Dairy Co	Des Moines, IA	Polk	19153	(\$0.50)
Aurora Organic Dairy	Platteville, CO	Weld	08123	(\$0.70)
Braum, W.H., Inc	Tuttle, OK	Grady	40051	\$0.10
Central Dairy Co	Jefferson City, MO	Cole	29051	\$0.20
Dean Dairy	Le Mars, IA	Plymouth	19149	(\$0.60)
East Side Jersey	O Fallon, IL	St Clair	17163	\$0.40
East Side Jersey	Sioux Falls, SD	Minnehaha	46099	(\$0.60)
Farmers' All Natural Creamery	Wellman, IA	Washington	19183	(\$0.30)
Hiland Dairy Foods Co, LLC	Chandler, OK	Lincoln	40081	\$0.10
Hiland Dairy Foods Co, LLC	Kansas City, MO	Jackson	29095	\$0.00
Hiland Dairy Foods Co, LLC	Norman, OK	Cleveland	40027	\$0.10
Hiland Dairy Foods Co, LLC	Omaha, NE	Douglas	31055	(\$0.50)
Hiland Dairy Foods Co, LLC	Wichita, KS	Sedgwick	20173	(\$0.30)
Jackson Dairy	Hutchinson, KS	Reno	20155	(\$0.30)
Kroger Mountain View Foods	Denver, CO	Denver	08031	(\$0.50)
Meadow Gold	Englewood, CO	Arapahoe	08005	(\$0.50)
Prairie Farms Dairy Inc	Carlinville, IL	Macoupin	17117	\$0.40
Prairie Farms Dairy Inc	Dubuque, IA	Dubuque	19061	(\$0.10)
Prairie Farms Dairy Inc	Granite City, IL	Madison	17119	\$0.40
Prairie Farms Dairy Inc	Olney, IL	Richland	17159	\$0.40
Royal Crest Dairy, Inc	Longmont, CO	Boulder	08013	(\$0.70)
Safeway Stores, Inc	Denver, CO	Denver	08031	(\$0.50)
Pool Supply Plants - Sec. 1032.7 (c)				
Associated Milk Producers Inc	Freeman, SD	Hutchinson	46067	(\$0.60)
Associated Milk Producers Inc	Sanborn, IA	O Brien	19141	(\$0.60)
Central Equity Milk Coop	Fairland, OK	Ottawa	40115	\$0.00
Dairy Farmers Of America Inc	Fort Morgan, CO	Morgan	08087	(\$0.70)
Dairy Farmers Of America Inc	Garden City, KS	Finney	20055	(\$0.70)
Dairy Farmers Of America Inc	Independence, IA	Buchanan	19019	(\$0.30)
Foremost Farms USA	Lancaster, WI	Grant	55043	(\$0.30)
Kalona Farms	Kalona, IA	Washington	19183	(\$0.30)
Prairie Farms Dairy Inc	Carbondale, IL	Jackson	17077	\$0.40
Prairie Farms Dairy Inc	Luana, IA	Clayton	19043	(\$0.30)

1/ Location adjustments are relative to Jackson County, MO, Class I differential of \$3.20.

Plant Name	City, State	County	FIPS Code	Loc. Adj. 1/
Cooperatives as Pool Handlers - Sec. 1000.9 (c)				
Associated Milk Producers Inc	New Ulm, MN			
Central Equity Milk Cooperative, Inc.	Springfield, MO			
Dairy Farmers Of America Inc	Kansas City, KS			
FarmFirst Dairy Cooperative	Madison, WI			
Foremost Farms USA Cooperative	Middleton, WI			
Great Lakes Milk Producers	Mount Vernon, OH			
Great Plains Dairymen's Association	Sioux Falls, SD			
Independent Dairy Producers	Hilmar, CA			
Land O' Lakes Inc.	Arden Hills, MN			
National Farmers Organization, Inc.	Ames, IA			
Organic Family Farms Cooperative	Santa Fe, NM			
Prairie Farms Dairy, Inc	Edwardsville, IL			
Rolling Hills Dairy Producers Cooperative	Monroe, WI			
Select Milk Producers, Inc.	Artesia, NM			

1/ Location adjustments are relative to Jackson County, MO, Class I differential of \$3.20.